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Topic:- General Knowledge and Logical Knowledge

1) The RTI Act received presidential assent on ./ \?rI'IT(ﬁGI'Ig ifafraw &t & ﬁT'T
Irseufa T frelt 4t

1. 15™ August 2005 / 15 3K 2005
2. 15 March 2005 / 15 A9 2005
3. 15" June 2005 / 15 S 2005

4. 15™ July 2005 / 15 [T 2005

Correct Answer :-
« 15" June 2005 / 15§ 2005

2) India's first Bio-CNG plant producing CNG from agricultural residue is located in . /?ﬁ'

Gl F Freasll T4 It HRd BT UYH SHa-H el wie ARG gl
1. Jharkhand / RIS
2. Telangana / A

3. Maharashtra / IIB'RTQ
4. Madhya Pradesh / TR

Correct Answer :-

e Maharashtra / IIE'RTQ

3) The series given below contains a sequence of numbers. Identify the incorrect combination: /T'ﬂ% a Tlg
siEar #, TSIl BT TP HH IUFRI § | TTerd Yo Ugar-e:

8,14, 26, 48, 98, 194

1.98

2.48



3. 14

4. 194

Correct Answer :-
o 48

4) The series given below contains a sequence of numbers. Identify the incorrect combination: / T'ﬂ% T:.Pf Tl_st
yEdr #, YB3l BT U HH SUFRIG § | TTerd Yo Ugare:

23,29, 31, 37, 39, 44

1.31

2. 39

3.37

4. 44

Correct Answer :-

5) Select the option that is true about the Statements and Conclusions given: / 3 e s Tga aﬂﬁm Ell
% fu g HyT of frsaut & ok A Wl &

Statements: / PY:

Some girls are dancers / PO ?I'S'faﬂﬂ LG %
No girl can sing / aﬂ%asaﬂmﬂé’rﬂﬁﬁ%

Conclusions: / frepd;
I. Boys can sing / ?I'ga? M qHhd %
II. Some dancers can sing / PO Id® M P &

1. both conclusion I and II follows / F5HY 1 3R 11 G ST FRA B

2. only conclusion I follows / $Had FpY 1 STV pdT g

3. only conclusion II follows / Had ﬁmﬂf 1T 3T hXdl %

4, neither conclusion I nor conclusion II follows / g)[ ﬁ’@o_‘sf I G?IT - g)f ﬁ'@ﬂf 1T 3{FERT GG %

Correct Answer :-

e neither conclusion I nor conclusion II follows / = g)[ ﬁmﬂf I GﬁT - gT ﬁ'@ﬂf 1T 3{FERT GG %

6) Select the option that is true about the Statements and Conclusions given: : / 3 IR DL

PG &) f¥ 3T 7T Hy=1 3R Frewul & T & 9l 2

Statements: / HY:



Some Kkids are teenagers / PO ¥ fraiR 8
Some teenagers are intelligent / S freR g@'ﬂﬁ %

Conclusions: / frs
I. Some Kkids are not intelligent / PO T mﬁ :I'Eﬂ%
II. Some teenagers are not intelligent / P& frmR §'@TIFT T &

1. both conclusion I and II follows / FT5HY 1 3R 11 G ST FRA B

2. only conclusion I follows / $Had FhY [ ST hdl g

3. only conclusion II follows / Had FTBY 11 STV hdT g

4, neither conclusion I nor conclusion II follows / gT ﬁ'&b‘ﬁf I GﬁT - _Eﬂ ﬁ'@ﬁﬁf 1T 3FERT Eb_ﬁ?f %

Correct Answer :-

¢ neither conclusion I nor conclusion II follows / ﬁ ﬁmﬂf I 3‘ﬁ'\" - _Eapf ﬁ'@?ﬁf 1T 3R I %

7) Select the option that is true about the Statements and Conclusions given: / 3 e ®19aq

PG o) f¥ T U Hy=1 3R Frewul & T & 9l 2

Statements: / PY:
All wires are threads / I+ R 4 %
All threads are ribbons / g4} 4T WId %

Conclusions: / fAe®:
L. All ribbons are wires / 3} Bid 4T %
IL. All wires are ribbons / I+ AR WId %

1. both conclusion I and II follows / ﬁlmﬂfl 3‘ﬁT II ?ﬁ?ﬁ ST aﬂ?f %

2. only conclusion I follows / Had Ty | STV pdl g

3. only conclusion II follows / Had =Y 11 SRV HdT %’

4. neither conclusion I nor conclusion II follows / éjf Ay | Gﬁ'\’ El gjf sy 11 TR GG %

Correct Answer :-

 only conclusion II follows / Had =Y 11 SRV HdT %’

8) Who is the Home Minister of India? / HIRd % e 'Fl'aﬁ H?SFT %’?
1. Arun Jaitley / 3R] Sled!

2. Piyush Goyal / tﬂ'{q ad

3. Rajnath Singh / IS g

4. Nitin Gadkari / e Tt

Correct Answer :-

« Rajnath Singh / STy g



9) Who is the Prime Minister who has had the longest term in office? / 9§ UYTEAT DI % T

A ol raf BT BrdehTer T8T 82
1. Jawaharlal Nehru / STT8R @Td A8

2. Manmohan Singh / II_"IIhB:T ﬁl_s'

3. Indira Gandhi / feT Tieht

4. Lal Bahadur Shastri / dl¢] dglgX R

Correct Answer :-

« Jawaharlal Nehru / STATeR AT g3

10) How many political parties in India have the National Party Status? / HRd # fpaq Iemfa®s

el o UT AP 3 BT qoll (AXd UTef ReH) 82
1.7
2. 12
3.5

4.3

Correct Answer :-

11) The Judges of the Supreme Court can be removed by / Tt <ararey & grardien &) feae
FRT §ETAT 1T 94l 82

1. Parliament / 999G
2. Law minister / ®I{ A
3. The President / TI'E'CIﬁT

4. Prime Minister / W H3T

Correct Answer :-
e Parliament / 99¢

12) Satish Dhawan Space Centre is located at / TAI=T ea Siafvel bg - T fRuq %I
1. Thiruvananthapuram / ﬁR“_OFHW

2. Sriharikota / %ﬂ?ﬁ_dﬁ?[

3. Narendrapuri / W



4. Mahendragiri / EANRY

Correct Answer :-

o Sriharikota / %“6 §$ c

13) Which state has the maximum forest cover in India? / HRd # foa =g | sifYpau a4
JTDBTE (PRI FaR) 82

1. Jharkhand / RIS
2. Uttar Pradesh / 3TR Uc¥
3. Haryana / g

4. Madhya Pradesh / H&] LR

Correct Answer :-

« Madhya Pradesh / 7€ UG

14) Which Article of the Constitution of India provides special status to Jammu and Kashmir? /

YRA & VAU BT PIH-T 356 oW U9 HIUR ! faxiy RS wem wear g2
1. 371
2. 370
3. 368

4. 372

Correct Answer :-
e 370

15) Which is the first State in India to achieve 100% electrification of households? / HIRd i | 100 %

fagadie~or U #3 araT ST B ATR?

1. Gujarat / 7]sIRTd
2. Andhra Pradesh / 3¢ S

3. Meghalaya / 23| D)

4. Madhya Pradesh / H&J PER

Correct Answer :-

e Gujarat / 7]SIRTd



What is the probability of getting a face card from a pack of 52 cards? / 52 U<l & 989 9§ B $18

@ ITeT U & e &t uiiiear | 32
1.1/52
2.2/13
3.4/13

4. 1/26

Correct Answer :-

e 4/13

17) The BRICS Smart Cities Conference was held in 2016 in / 2016 A forag w1 W@"m
H Smaifora &1 Wt <

1. Shillong / FRT@MT
2. Jaipur / SIYYR

3. Indore / _i'aT

4. Raipur / [AYR

Correct Answer :-

 Jaipur / STUYR

18) If the day before yesterday was Monday, then when will be Friday? / gfe did g Pd ¥ Ugd &1

a1 WwaR o1, 9 YHaR Fa g2

1. Three days after today / 3T i fa9 gy
2. Day after tomorrow / LS|

3. Tomorrow / 3 Tl &l

4. Two days after today / 3T &l fa ugrd

Correct Answer :-
» Day after tomorrow / LS|

19) If MOTHER is coded NPSGGT, then how is DAUGHTER coded? / Gf& MOTHER ) NPSGGT A
PIfSd foar SITa1 8, A DAUGHTER &) 1 HifSd foar s

1. EBTFJUCO
2. EBTFJVCP
3. EFTBJVDP

4. EBTFHVCP



Correct Answer :-
o EBTFJVCP

20) If FRIEND is coded IRFDNE, then how is RELATION coded? / qﬁ FRIEND &1 IRFDNE |

Pifsd frar Srar 8, @Y RELATION ) 9 Sifsd forar s
1. ALERTION
2. ALERNOIT
3. NOITALER

4. RELANOIT

Correct Answer :-
e ALERNOIT

21) If MKAGTUDPHX is coded 2876354019, then how is 307524 coded? / 4f¢ MKAGTUDPHX &1
2876354019 T HIfST fHgT STdT 7, Y 307524 B BA Bifed fbar w2

1. TPAMUD
2. TPXHGD
3. TPAUMD

4. TDPXHA

Correct Answer :-
« TPAUMD

22) Who among the following is the youngest Indian grandmaster in chess? / Fifea & 9 g9
FH IY BT AL BT HRAH FSHRER DI 32

1. Padmini Rout / TR A

2. Pendyala Harikrishna / UITel R
3. Parimarjan Negi / qiRHTSH A1t

4. Pravin Thipsay / yaor fas

Correct Answer :-

e Parimarjan Negi / g A1t

23) Tipu Sultan was the ruler of / &1 0T 3 &7 & AP A:
1. Mysore / fﬂﬂ



2. Hyderabad / BarIdIG
3. Ahmednagar / gHGTR
4. Ahmedabad / SgHcldlq

Correct Answer :-

» Mysore / ﬁﬁ?

24) There are 12 Jyotirlings in India of which two are in Madhya Pradesh. They are located in /

HRA H 12 ST 3 | I79 & & 7ex Ua=T § gl (RUd &2
1. Ujjain and Omkareshwar / IoH 3R RIEARET

2. Ujjain and Hoshangabad / I SR BIRATETE

3. Omkareshwar and Indore / Ghﬁ%ﬁ 3%? Eﬁ?

4. Bhopal and Indore / Hord 3R E_C?R

Correct Answer :-

» Ujjain and Omkareshwar / I 3R PR

25) Who was the Prime Minister of India during Indo-Pak war in 1965? / 1965 - | BY HIRd-

TP & F THT YR & TUHA P A2

1. Jawaharlal Nehru / STATgdTd A8

2. Indira Gandhi / {7 TR
3. Lal Bahadur Shastri / TITc] S8TgR Tl

4. Rajiv Gandhi / JTofig TTeft

Correct Answer :-
 Lal Bahadur Shastri / ¢l¢] dgIgR Re!
26) Who was the last Mughal Emperor? / sifawa HITd qY1c P U

1. Babur / d[eR

2. Tipu Sultan / €Y e
3. Aurangzeb / RIS

4. Bahadur Shah 11/ dglgr Rlg Iaélq

Correct Answer :-

« Bahadur Shah I1/ dglgX RIlg |§a|€|



27) In a certain code language, wela sela tela means hot water bath, jela wela nela means cold rain
water, and nela nala pala means heavy rain fall. Which is the word for jela in that code language? /
U @ Bl HTHT ﬁ, wela sela tela BT Y hot water bath; jela wela nela b1 3 f cold rain water 3R
nelagalapala &1 3 heavy rainfallfﬁ?ﬂ%l Wﬂ'ﬁg Wﬁjela ﬂ?ﬁmmmmsﬁmﬁ%m
a1 g?

1. hot
2. water
3. fall

4, cold

Correct Answer :-
o cold

28) In a certain code language, Hold the line means hode fen ge, Pass the message means fen mesta
goka, Draw a line means hode waj diba. Which is the word for hold in that code language? / Tdh W
PIS YT ﬁ, Hold the line &1 3% hode fen ge; Pass the message ®1 3ref fen mesta goka 3R Draw a
line 1 314 hode waj diba BYAT | A BIS Wﬁhold%ﬁ?ﬁ’_\qwmmﬁ?mTNT%?

1. ge
2. diba
3. hode

4. fen

Correct Answer :-

29) The Kohira dam is located in the / EFI'%?T CICE T 5G] %

1. Dhar / YRR
2. Kaimur District / aﬂ:l;{ fSrem

3. Shivpuri / RRIGGS
4. Rewa / 3T

Correct Answer :-

» Kaimur District / %ﬂg foran

30) The Sundarbans stretch to which neighbouring country of India? / HIRd & fou tl?h?ﬁ =y
Yoz T g g?

1. Bangladesh / AT



2. Pakistan / OTfop &
3. Nepal / AUTd

4. Bhutan / T4

Correct Answer :-

» Bangladesh / SIRGI R

31) The famous singer Tansen was from /uﬁl&' D ?I'H@T'ﬁb_&ﬁﬁ g2
1. Ujjain / I

2. Indore / 333?

3. Gwalior / TR

4. Bhopal / T

Correct Answer :-

« Gwalior / TTfCRR

32) Raviis 7 ranks ahead of Sumit in a class of 39. If Sumit's rank is seventeenth from the last, what

is Ravi's rank from the start? / 39 ﬁ@fﬁﬂﬁﬁ&ﬂﬁ?ﬁ,ﬂﬁﬁﬁ7wm%l uﬁg&mm
R 3 | WAedl ¢, O U | I 1 I a1 g

1. 17t
2. 16t
3. 14th

4, 15t

Correct Answer :-

. 16th

33) In the following question, some group of letters is given, all of which, except one, share a common
similarity while one is different.

Choose the odd one out:

/Frafafaa vy ¥, serl & $© 94g fRu e 81 39 9t A, Fad ter ! Sie®y, 3 U &
wafd Td ST R

IH A fauH &1 99+ Fifom:
1. VT

2. PR



3. FG

4. MQ

Correct Answer :-
« FG

34) Find the odd one out: / Uh ﬁ'm:[ﬂﬁ aﬁﬁnz:
8,9,12,17, 24, 32

1. 24

2.12

3.32

4. 17

Correct Answer :-

e 32

35) Complete the series choosing the missing letter/s: / Ul &R/ AERT B EGEZELCRI E| T P
PPq _pq __rpqrrp__qrpq__r

1.r,p,q,r

2.4,9,Q, 1

3.9,9,p.q

4.1,4,p.q

Correct Answer :-

36) Complete the series choosing the missing number: / & & AR T | T BT
20,19,17, _ ,10,5

1. 12

2.13

3.14

4.15

Correct Answer :-

e 14



37) Complete the series choosing the missing number: / U AT JIP &l | T PIfoT:
1,4,9,16,25,

1. 48

2.36

3.49

4. 35

Correct Answer :-

e 36

38) Complete the series choosing the missing number: / U J&AT IIP &l | T P
1,5,17,53,

1. 161

2. 159

3. 165

4. 147

Correct Answer :-

39) Select the option that is true about the Statements and Conclusions given: / 3 favea w19uq

Afore st s R e oA o el & Wt 3:

Statements: / PY:
Some cats are dogs / PO IEl ﬁ %
No dog is black / ﬁg quﬁ%

Conclusions: / fTs
I. Some cats are black / PO ﬁﬁﬁ ﬂ'ﬂ?ﬁ %
II. Some cats are not black / P& foeett wret qﬁ'%

1. both conclusion I and II follows / FT5BY 1 3R 11 G ST Hd %

2. only conclusion I follows / Had FTpY 1 STV pdl g

3. only conclusion II follows / Had ﬁ'@b_ﬁf 1T 3TV pXdl %

4, neither conclusion I nor conclusion II follows / é)[ ﬁﬁb_‘sf I 3’ﬁT - 33[ ﬁ'@ﬂf 1T 3T Y %

Correct Answer :-

« only conclusion II follows / Had SR 1 SFTIRTT Fal &



40) The place of origin of Son river is near i '\‘ﬁﬁﬂ?ﬂ DI IGITH JYTH & gHig
gl

1. Dindori / Iag i'
2. Amarkantak / 3R ch
3. Umaria / SHIRAT

4. Khajuraho / W

Correct Answer :-

o Amarkantak / (AR CH

Topic:- Mental Ability and Mental Aptitude

1)
In the sequence shown below, which figure comes next? /=i B 9 e A, 3l BTEfﬁ i °r

v

Correct Answer :-



2)
If the following two squares shown below overlap, which one of the following options is formed? / Af¢;
forear & adr Hfaeaud g & o B § & &9 1 0 fdeed gedt &

v @

®
@
2.
3.
)

Correct Answer :-

3 Which of he following is greater than 5%? | AT 7 & @ 5% T 95T 87



Lad
o2

b
L)‘q| 3

4) 5 ] 5
Which of the following is less tan 13§? | TFteidd & @ &= 13; U &A g7

110

8

Correct Answer :-



From a sack of potatoes weighing 120 kg, a merchant sells lots weighing 6 kg, 5%
kg, 9% kg, and 9_—? kg respectively. How many kg did he sell? / 120 T&am a== drer

HTeIHT T dR & T UMY = HAL: 6 T, Siﬁﬁﬂ, 9% ﬁGJTB-ﬂTQ% Toram & o3 &7
oo fam 39 fhae foham 3mmel o e

1 1
30= /30 TEham
2 k9 2

1.

zn% kg IED% Teharm

40% kg E4D% T

3.
10l kg / 102 R
2 2
4,

Correct Answer :-

6)

HRER

Ol |eg| (O] | -




2.
3.
4.

Correct Answer :-

7)
5
The sum of two numbers is i of the first number. The second number is what
i ’ 5 i &
percent of the first? famaﬁaﬂmﬂqaﬁrmaﬂé & SET T, TEell TEAr &
Toa=T ufdera &2

1 66%

661 %
2. 2

663 %
3
66— %
4,

Correct Answer :-

663 %
3



Khan 's age after 15 years will be five times his age 5 years back. What is the present age of Khan? /

15 T UYTd W DI 3T, 5 T Ugd STBT g BT Ui AT g1 | WH Pt adH 3R T 82
1. 15 years / 15 9

2. 5years /5 Y

3. 20 years / 20 Y

4. 10 years / 10 CL

Correct Answer :-

e 10 years/ 10 Gl

9) The Average age of a class of 15 students is 20 years. One student left the class and a new student
of age 20 years joined the class. What is the new average of the class? / b DEIT ¥ 15 faenfday #1
3N 3 20 T9 31 T et 7 wen #) ois faar oiv 20 9 &1 ve a7 faen<ff 39 wan o
IS g3 8 | H&T BT 14T SN FT §RII?

1. 400 yrs / 400 T
2.315yrs /3154
3. 305 yrs / 305 Y

4.300 yrs / 300 T

Correct Answer :-
e 300 yrs /300 T

10) A briefcase was sold at a profit of 10%. If its cost price was 5% less and it had been sold for Rs. 7
more than the profit, it would have been 20%. Find the cost of briefcase. / Y 3 B 10% F AIH
TR ST 4T YT | 9fe SDT 69 Yo 5% HH gidT 3R 38 a1H I 7 U 3 1R a1 Srar af
SHDT ATH 20% BIaT 8 | 3! P 559 Yo 7T He |

1. Rs. 170/ 170 398
2. Rs. 169 / 169 T
3.Rs. 175 /175 300

4. Rs. 174 /174 309

Correct Answer :-

e Rs.175/175 %09

11) When a book is sold for Rs. 24, the seller loses 20% of its cost. What would be his profit or loss, if
he sells it for Rs. 27? / Td Ueh [¥d® $I 24 TUY § ST o161 3, A fashd1 &) IS 1d W 20%
1 Bielt 81 f 98 S 27 $UA A JUaT 8 Y SHS! AT AT §11 T gRA?

1. A loss Rs. 3/33@?53[311%[



2. AlossRs. 1/1 ??EF&&‘T%TI?{
3. A profit Rs. 474398 BT Y

4. A profit Rs. 6/ 6 3UY BT Y

Correct Answer :-

. AlossRs.3/3F‘TaaﬁBTﬁ

12) What number is such that its 16 % is 1922 / 3t B I T & BT 16%, 19282
1. 1200
2. 1160
3. 1260

4. 1440

Correct Answer :-
e 1200

13) The ratio of ages of X and Y are 5:.4. After 25 years, the difference between their ages will be 20
years. Find the present age of X./ X 3Ry & S{TY BT AJUTd 5:4 2125 9 uyTd, STDt ST BT
3(AY 20 99 GHIT X BT TAHT 3T 7T BR |

1. 100
2.50
3.90

4.70

Correct Answer :-
e 100

14) A swimmer can swim at a speed of 0.5 m/s in still water. How much distance will he cover in 25

minutes? / TP aRTP R 5@ H 0.5 e/ AHvs $t a1 A O Tdar 21 25 fee d af frast g
B T B2

1. 450 m / 450 TR
2. 600 m / 600 HICR
3. 500 m / 500 HIeR

4. 750 m /750 HicR

Correct Answer :-

« 750 m/ 750 Hicx



15) If 18 men can finish a job in 26 days, then, in how many days will 13 men finish the same job? /

Tfe 18 =W 26 feT & T w1 &t WHTE HR T &, a1 I H1 B 13 =9 fpa A &
T B2

1. 25 days / 25 &1
2. 22 days /22 fad
3. 19 days / 19 f&A

4. 36 days / 36 fa

Correct Answer :-

e 36 days /36 feT

16) 270 is divided into two parts such that sum of 3 times the first part and 2 times the second part is

630. What is the smaller part? / 270 B & HTT} # 39 YR fauTira forar wirar @ f vga 4T & 3
T 3R g YRT & 2 A BT AN 630 3| TY HFT DI AT 8?2

1. 180
2.90
3.70

4. 120

Correct Answer :-

17) If aline, 10 cm long, is divided in the ratio 3 : 5, then, the lengths of two resulting lines will be: /

%ﬁ;ﬁww,a‘r% 10 T & @ 3 : 5 F rgurd | faurima 8, aa Y wRomdt Yansit @Y wvarsg

1.5.75 cm, 4.25 cm / 5.75 9HY, 4.25 T
2. 6cm,4cm/6@1ﬂ,4@1ﬂ
3.6.5cm, 3.5 cm/ 6.5 T, 3.5 AH

4.6.25 cm, 3.75 cm / 6.25 THI, 3.75 A

Correct Answer :-

e 6.25cm, 3.75 cm/ 6.25 WY, 3.75 T

18) Q is as much younger than R as he is older than T. If the sum of the ages of R and T is 50 years,
what is the difference between R and Q's age? / Q, R A a1 ﬁ BT % raafe a8 T 3 CE] %I
gfg R 3R T B} 31 &1 N7 50 94 B, 1 R 3R Q B Mg FT SR AT 8?2



1. 25 years / 25 qy
2.2 years/2 CL

3. lyear/1 CL
4. Data insufficient / ST 3T %

Correct Answer :-

« Data insufficient / ST 3T %

19) In a market survey, 20 % opted for Product A; 60 % opted for Product B; while the remaining
people were uncertain. If the difference between those who opted for Product B and those who were
uncertain was 720, how many people were covered in the survey? / T dIVlIR gdefor ﬁ, 20% A
ITG A DI AT, 60 %  IUTS B B AT, Fafd AW a1 i+ &1 afe el Sae s i g e
3R it 3ifAf3a & S @I & i 3R 720 ©, @ fvam @ @1 wdaror & =i faam war ur

1. 1,800
2. 3,600
3. 1,600

4. 1,440

Correct Answer :-

20) A can finish a work in 18 days and B can do the same in 15 days. If B worked for 12 days and
leaves the job; then, in how many days can A complete the remaining work single-handedly? / A

it s o1 18 fe1 A 3R B I ol @) 15 = & qrr = Wpar 31 Tfe B, 12 o & forg ek
BT & 3R bR P Ble a1 & oY 3P a1 A T2 ¢ B ! fohaq fa= & T Hem?

1 1
?rgda‘_-,rs / 35 fea

9 g
3§daysf 33 fea
2.

4 4
3§daysf 3§ fea
3.

3 5
BEdaysf ?rg G
4.

Correct Answer :-



3 3
3§daysf 3§ G

21) The sum of the place values of 5 and 3 in the number 364572 is: / 364572 TEH53R3F

1. 3500
2. 100100
3.5

4. 500300

Correct Answer :-
e 100100

22) By selling a T-shirt for Rs 216, a shopkeeper loses 4 %. For how much should he sell it to gain 12

% ? / S1-RTE DI 216 TUA B SADBY, TH GHIGR DI 4% P g1 gIel 81 12% ATH YT HA &
o 39 &-x1¢ fa | st Ty

1. 552
2. 352
3.252

4. 652

Correct Answer :-

o 252

23) A train travels at an average speed of 50 km for 3 hr, and then travels at a speed of 75 km for 2

hr. How far did the train travel in the entire 5 hr? /Wi?m 'ﬂ%%ﬁﬂ! 50 fp it ot ST I A
AT HXl & 3R ITP UYTd 2 U & forg 75 foreft Y =rer 9 amn et 81 3y 5 gel # ¥a fpai
& B AT B2

1. 300 km / 300 fHT

2.275 km /275 AT

3. none of the above / STIGT H I Oh\l'irq_tﬁ

4. 250 km / 250 o Ht

Correct Answer :-

e 300 km /300 fope



24) A train passes 2 scoters moving in the same direction. If the train travels at a speed of 60 kmph
in 30 sec and 90 kmph in 45 sec, then what is the length of the train? / JHIA ﬁ'SZ'IT H \_rIT?% 2 W
I TH YA UR HXdl 71 Al 30 AHUS | ¥ 60 f5wt ufey weT ofR 45 Apvs | 90 it ufar ger o5t
AT A AT Sl &, A1 ¥l B ARG o7 82

1. 800 m / 800 HICX
2. 520 m /520 Hie?
3. 600 m / 600 TR

4.750 m /750 HicR

Correct Answer :-

« 750 m/ 750 Hiex

25) Which one of the following four addresses is NOT EXACTLY same as the one given

below? / {79 f3 T8 ¥R yal & & 2 fed A v & St Iw= F19 91 v ) 82

Kedrick Shaw
72 Glenwood Drive, Thornton,

NSW 2322, Australia

(i) Kedrick Shaw
72 Glenwood Drive, Thornton,

NSW 2322, Australia

(ii) Kedrick Shaw
72 Glenwood Drive, Thornton,

NSW 2322, Australia

(iii) Kedrick Shaw
72 Glenwood Drive, Thornton,

NSW 2322, Australia

(iv) Kedrick Shaw
72 Glemwood Drive, Thornton,

NSW 2322, Australia



4, iii
Correct Answer :-
Y

26) Abhi and Prem together have Rs. 3,000. Even after Prem gives Rs. 400 to Abhi, he
1

finds that he has 4 the amount Abhi has. How much money does Abhi have now? / 3y

3R U9 & U $d 3,000 TUA § | TP, 34U FHT 400 TUT 3 F U, VA F) I g1 8 H
1
ST U A A R BT 4 Rl A R, A ke A oty & ur Readt w21

1. Rs. 400 / 400 3T
2. Rs. 1,000/ 1,000 3T
3. Rs. 800 / 800 STY

4. Rs. 600 / 600 ST

Correct Answer :-

« Rs. 600/ 600 30T

27) A triangle and a parallelogram constructed on the same base have equal areas. The
height of the parallelogram is 5 cm. What is the height of the triangle? / T® B iR
TR IgUS S THH SMYR TR F9E W1d 8 39 &F%d GHH ¢ | JHHIAR Ig4s &1 $u1 5
It 31 Bretor &Y Sars @ 82

1.10 cm /10@1:?[
2.12 cm /12@{'12?[
3.2cm /23H
4.5cm /59H

Correct Answer :-

« 10cm /10 9Ht

28) The LCM of 3a and 15ab is: / 3a 3fX 15ab $T TYIH JHUTH 3:
1. 13ab

2. 15ab



3. 14ab

4, ab

Correct Answer :-
e 15ab

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect
combination: / & &} 78 g #, 31&RY 3R Wemsit &1 v HH A § | Tera GuieH vgaAe:

i.hpopr8752rpoph
il.hpopr8752rpoph
iii. hpopr8752rpoph

iv.hpopr8952rpoph

4. iii

Correct Answer :-

30) Find the average. / 3Na R
33,40,47,54,61 & 71

1.55

2.51

3.49

4.53

Correct Answer :-
e 51

Topic:- Science and Simple Arithmetic

1) o 2
FX2=1 thenx=__ [T ="=1 drx=

F 4 4 F& 4

1.6



2.8
3.4

4. —8

Correct Answer :-

2)
The area of the floor of a rectangular hall is 960 sq cm. If carpets of size 6 m * 4 m are available,
the number of carpets required to cover the hall is: / U HTAJERR Blel @l w97 & &6 960

T AL &1 AT FRAT FT 3T0eT JER 6 AL = 4 AL &, o 87T T T & They & 0T
FRUC I ATaeds & &F gl

1. 45
2.40
3. 80

4. 60

Correct Answer :-

3) | —
The value cfﬂ|248+ V52 ++144== /

[
ﬂ'243+\;52 ++/144= 7 AW WET e

1. 16
2.28
3.32

4. 18

Correct Answer :-

4) If the adjacent angles of a parallelogram are in the ratio 1:3, then the smaller angle is: / afe qHiaR
TGUS & ARIT HI0N BT U 1:3 B, A BleT S fw=1 ghm:

o

1. 45

o

2.40



o

3.35

=]

4.75

Correct Answer :-

o

5) If a circle has a perimeter of 44 cm, then find its diameter. /tlﬁ'@ﬁaﬂqﬁﬁl 44 7. B, O sPT
T J1d HIfeg|

1. 12 cm/ 12 9,
2.10 cm/ 10 THY,
3. 16 cm/ 16 9HY.

4. 14 cm / 14 9.

Correct Answer :-

e 14cm /14 9.

6) What is the probability of choosing a vowel from English alphabet? / 3t gufarer 3 Uh &Y F
Tafd g1 3t farasit wTRiwar gidt 32

1.0

2.1
21

7) Spot the wrong statement about multicellular organisms. / agaﬁﬁlaﬂ'q Sital & fawa § a9
BT 99 DI

1. Each kind of cell is specialised to perform a specific function / Ud® UHR P HIfRew] fafdre o &
& fe gl 81

2. All cells perform life functions / gt ?ﬁw St Geieft Tt e et % |
3. All cells are identical / GHT aﬁw JHR=Y Eﬁ?ﬁ % |
4. Each cell can exist on their own |/ Ud® HIRHT BT 3T eI giaT o



Correct Answer :-

o All cells are identical / FHT aﬁﬁmq JH=7 Eﬁ?ﬁ % |

8) In a plane mirror, a virtual image is always formed: / HHdT gy o, syt ufafda gea AW
fAfifa gt @:

1. Behind the mirror / GUUT & U
2. Behind the object / I¥] & Utey
3. At infinite distance from the mirror / GUUT ¥ 3{d _g'{\Pf X

4. In between the object and mirror / d¥g Td H'd:UT F AT H

Correct Answer :-

¢ Behind the mirror / a'thT & U

9) Name the structure which segregates the cell content from surroundings in an animal cell? / 3
HERAT BT A9 FAT3T, S U] BIRIDT A M-I & URART A BIHRABT 3aad &I JYFHd Hcl
82

1. Nucleoplasm / $5® A

2. Nuclear membrane / ATTH®H T @Rﬁ
3. Cell wall / SIRTT fHfy

4. Cell membrane / DIfRTenT fareeit

Correct Answer :-

« Cell membrane / BB %Ic_vﬁ

10) Wheat is a monocot because: / 3§ U@ e W=l § Fifep:
1. It has a fibrous root system / 395 YRIGR TS YUl 3|
2. It has compound leaves / 39H Tgad ufyat g

3. The vascular bundles are arranged in a ring / Gdg1d §8d goid H afRUd g
4. The leaves of the plant have reticulate venation / Uit 1 uferal H SifereT 0t fRRT =41 31

Correct Answer :-

« It has a fibrous root system / TIH WER Slg JuTTelt %’I

11) Thevalueof m, if / =3 jsi. yafe 7" = 343 2 @ m &1 A e ERm:

1.5



2.3
3.4

4.2

Correct Answer :-

12) CANCELLED

If Rs. 600 amounts to Rs. 683.20 in two years, when it is compounded annually, then the rate of interest

per annum is: / A& 600 TUY ATY® =T A Tshgfex P U &1 a9 H 683.20 FUA gl 91d &, ST &% =7
g

1. 10%
2. 8.5%
3. 8%

4. 9%

Correct Answer :-
e 8%

13) The least number by which 36 can be multiplied to make it a perfect cube is: / dg

DI | B "@& A= g ForTs Jun #34 wR 36 Ui g9 9 w1e:
1.6
2.5
3.3

4.2

Correct Answer :-

14) If the selling price = Rs. 713 and its cost price = Rs. 620, then gain percentage is: /
gfe frdt avg =1 fasva gou = 713 3T, 3R 3UHT 9 T = 620 WA 3, ot a1y wia=ra fA=
Eﬁ'ﬂT:

1. 15.5%
2. 16%
3. 19%

4. 15%



Correct Answer :-
e 15%

15) The example of connective tissue is: / TUISI SHdP BT TP I8V 3:
1. Cartilage only / Ryt Iufy

2. Bone only/ﬁI'C% Y

3. Blood only / b v

4. All the above / E'Eﬂi?ﬁ ot

Correct Answer :-

« All the above / STgad T+t

16) Asexual reproduction in Amoeba takes place through: / 3HaT # 3rafii® S sH&
ATead A g &

1. Regeneration / YToagd

2. Budding / Y clq
3. Binary fission / ARRCRE

4. Fragmentation / fage

Correct Answer :-

¢ Binary fission / HALRRCICE

17) Opposition to the construction of large dams is due to: / g3 dith & Aoy &1 fRiy
Y HRYI gIdT 8-

1. Environmental reasons only / Rt gaiaruity sRT
2. Economic reasons only / b snffes wrRur

3. Social reasons only / ft IS HROT

4. All the above / ITdad T+t

Correct Answer :-

« All the above / Iudad Taft

18) The length, breadth, and height of a cuboid are in the ratio 6:5:3. If its total surface area is 504 sq cm,

then its volume is: /wwua&m,ﬁaéazn'ﬁlé&ss%amﬁ?l qﬁmwm
AAE 504 9 QY. 8, A SHBT ST A= R



1. 700 cu cm / 700 I IHT,
2. 728cu cm / 728 I THY,
3. 640 cu cm / 640 T IHT.

4. 720 cu cm / 720 9 9.

Correct Answer :-

e 720 cu cm /720 9T 9,

19) The adjacent sides of a rectangle are in the ratio 5:12. If the perimeter of the rectangle is 34 cm, then
the length of its diagonal is: / 3ITId BT TRT~ YT BT SFUTA 5:12 | TFE 3maa 1 ufvATy 34 I,
g, a1 39 famf &t dars = gnfl-

1. 12cm / 12 9
2. 1lcm /11 9.
3. 10cm / 10 9.

4,13 cm /13 99,

Correct Answer :-
e 13cm/13 9.

20) If a crystal of potassium permanganate is kept in a beaker containing water, the water becomes pink
after sometime. What characteristic of matter is inferred through this observation? / 'CI'% uﬁﬁmw
TRATHE FT TP A1 TP o G 1 W 7471 1Y df $© THI UYTd 98 o [ardl g1 a1 2 1 39
W&or & gRT uard @1 e W faivar fresia 5t 5 wedl 82

1. Particles of solids break easily when pressure is applied on them. / BT S HUN W@ a1 A d
T ¥ g2 o g

2. Particles of matter have space in between them. / Wﬁ & PHUN & S AT Eﬁ?ﬂ %I
3. Particles of solids are tightly bound and they are rigid. / 3 &b HU BB 9 E?l?f % dyl€e Bﬁ %I

4. Particles of liquid are loosely bound and they can flow. / «d & HU Gl 99 BId %’ YT d YdTied 8l gad % |

Correct Answer :-

 Particles of matter have space in between them. / UaT?f F HUN & o AR EPR‘IT %I
21) Which one of the following is a thermoplastic?/ =T & & S AT Uh qragacd 4
1. Melamine / fﬁf@:ﬂ:[

2. Vulcanized rubber / Geb=d dg
3. PVC / UIdI=t



4. Bakelite / Shdgc

Correct Answer :-

« PVC /UG

22) When a bar magnet is cut into two equal parts, then: / STd Th 33' g b Eﬂ' CRICES U & BTeT ATdT
g, an:

1. One part will get north pole and the other part will get south pole / T HFT Iw<T ¢d 1 ST § 3R
GERT U f&oft ¢4a g e g

2. Magnetism of both the parts will be lost / FEIRED] ECACIENIRCIR] %I
3. Pole strength of both the part will be increased / ?ﬁ:ﬁ YT Y gd g 7 q@ Epf STt %I

4. Each part will become a magnet / Tdd HIT Uch b & fIdl %I

Correct Answer :-

e Each part will become a magnet / qd® HIT Uch g g Wf[dl %I

23) Solar cells are made up of: / R Ad m CE| 3.1?[ %
1. Insulators / Eﬂaa

2. Semiconductors / AGATAD

3. Superconductors / NIREINED

4, Conductors / dTcIh

Correct Answer :-

e Semiconductors / W

24) Which kind of muscle gets tired by prolonged periods of activity? / g yor 1 U=l d@<«t nfafafdr
& GRT Y& ATl g2

1. Cardiac / EETﬁ

2. Muscles will not get tired / Uzt ERREXI| %
3. Striated / YRIGR

4. Non-striated / YRRfgd

Correct Answer :-

o Striated / ?Jlé QR



Which of the following provides polar bear insulation against extreme cold? / Fafafaad a0

AP 38 & favs Ydia WG B AU UG BT 82
1. Pointed mouth / &0 TE

2. Fat layer / 99T URd

3. Huge size / fo=ma SR

4. White fur / e Y

Correct Answer :-

e Fat layer / 9T UXd

26) Which of the following is an example of contact force? / Ffafafea A a =+ Uh TUS g PT
A3

1. Magnetic force / W EN
2. Electrostatic force / RRR a@q—d gd
3. Gravitational force / W’q qgd

4. Frictional force / T8I S/

Correct Answer :-

« Frictional force / I8l 9@

27) One of the functions mentioned below is not performed by the ‘C’ shaped cartilaginous rings in the

trachea. Identify the same. / ﬂ%ﬁquﬁﬁﬁwwﬁw—ﬁﬁ 'C' WH@@T@IW
o grT el foran wirar 31 39 g

1. It provides support / I3 TP U BT %I

2. It helps in the absorption of O3 / T8 03 & ANl H HEG Hdl gl

3. It allows uninterrupted flow of air / T8 a1 & 3ifafsd vdTg ®T AT T ]
4. It prevents collapse of the trachea / I8 419 et & fuTd &Y Abar 7

Correct Answer :-

« It helps in the absorption of 05 / T8 0, & IVl H Hag HaT gl

28) Find the quotient; (4¥° —2x” = 3) + (2" —1) ; (4% = 24 = 3) = (2% — 1) 57 e 7t
o

1. 2x +4

2. 2x — 4



3, 2x+1

4. 2y —1

Correct Answer :-

29) The value of (@ +0)* — (@ —b)* = (a+b}2_(a_b}zﬁﬂﬁﬁ1:lﬁ1ﬂ:

1. 2(a‘ +b2)

Zab

3, 4nb

4, 2ab

Correct Answer :-

30) If the opposite angles of a parallelogram are (3x +5) and (61 —x) , the angle is: / gfeg Th

TuteR aga & fuda wror O +5) qop (61 —2)° & G oy ey g

o

1. 47

o

2.50

o

3.74

o

4. 48

Correct Answer :-

o

. 47



